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Forest protection has to go hand-in-hand with forest restoration and reforestation.
Africa has the largest restoration opportunity of any continent in the world — an area
nearly the size of Australia. Many African communities are already reaping the
benefits of restoration. Farmers in the Ethiopian region of Tigray have restored
more than one million hectares of degraded land through agroforestry and climate-
smart agriculture. By doing so, they have expanded farming long into the dry season,
improving soils and water supplies, and increasing food and nutrition security. It is
for such reasons that my Foundation keeps emphasizing the crucial role that climate-
smart solutions can play in ending hunger. If done properly, commercial forest
plantations have a huge potential to restore degraded land and reduce pressure on
natural forests. But let me stress that the new must not lead to the destruction or
neglect of the old. Several companies in Africa, including Form Ghana, have set up
sustainable forestry projects based on a long-term approach and multi-stakeholder
benefit. They understand, what all farmers know, that if you take something from
the earth today, you need to put something back in return; because if you don’t do
so, the cycle cannot continue. They are operating according to high standards for
sustainable forest management, serving the needs of the local communities and
restoring vital environmental services. These successes need to be replicated and
scale up. African governments must create conducive environments to promote
domestic and international investment in sustainable reforestation initiatives.

I encourage companies to build innovative partnerships with governments, civil
society, and multilateral institutions to develop and apply sustainability criteria and
increase the areas of certified forest plantations. Businesses must adopt zero-
deforestation policies, respect human rights and land rights, and commit to third
party verification of their operations. Consumers can support responsible business
practices by committing themselves to buying recycled or certified wood products.
And the global community must get behind those efforts; the benefits — as we all
know — go far beyond Africa. Forest restoration and reforestation in Africa can
contribute to the global effort to tackle climate change and accelerate progress in
achieving the Sustainable Development Goals. Research shows that forest restoration
of 350 million hectares could generate $170 billion per year in net benefits from
watershed protection, improved crop yields and forest products.

— Kofi Annan
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Ql. Write an essay on any one of the following in minimum 250 to maximum 300 f [543 o /
words. It must exhibit your grasp and critical understanding of the subject in OBTAINED
the best possible individual style having originality of thought and expression. MARKS
It must be well-argued piece of writing coherently and sequentially with
observance of grammatical rules. §6 0lQL /

TOTAL
. “If people are doubting how far you can go, go so far that you can’t hear MARKS: 20
them anymore.”
Il. “If every day were Earth Day, we wouldn’t be in the mess we are in.”
lll. Violence never brings permanent peace.
IV. India as an Emerging Global Power: Challenges and Opportunities.
V. Problem of Child Labour in Developing Economies.

Q2. Imagine you are an Assistant Conservator of Forest posted in the Gir Range, Andet oyl /
Gujarat. The Government has recently decided to update the important data OBTAINED
of forest by using advanced tools, technology and modern machines which MARKS
can make the process of forest conservation easier and more efficient.

Your senior officer has sought your opinion about the needful actions for 5cl el /
the same. Write a letter, in about 150 words, to your senior officer offering TOTAL
needful suggestions. MARKS: 10

Q3. For many birds around the world, Gujarat’s Nalsarovar lake is home away | [\n3e o /
from home, where they spend the cold winter months. Designated as a OBTAINED
wetland of international importance, the lake needs to be safe destination MARKS
for these birds. The recent matter of concern is the sprawling nets across
the wide lake, which brings the carefree flights of the birds to an abrupt end. 5cl 9l /
Draft an APPEAL, in about 150 words, creating needful awareness among TOTAL
the masses on the said concern. WARKS: 10

Q4. Write a report in about 150 words on your recent visit to the Tana Riri f [543 o0/
Mahotsav organized by the State Government at Vadnagar. osmmgo

MARK
§CGL QL /
TOTAL
MARKS: 15
Q5.

Reflect on the following picture with meaningful observations in about 150
words: -
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Q6.

Q7.

Q8.

Draft an inaugural speech, in about 150 words, to be delivered by the
honorable Minister of Tribal Affairs, Government of India, at ‘Aadi Mahotsav’,
an annual initiative of the Tribal Cooperative Marketing Development
Federation Limited (TRIFED) under the Ministry of Tribal Affairs.

Write a precis of the following passage in about one-third of its original
length:

Malnutrition relates to a deficiency, excess, or imbalance of energy and
nutrients. It comprises varying degrees of under- or over- nutrition, which
leads to changes in body composition, body function, and clinical outcomes.
In other words, malnutrition is an all-inclusive term that represents all
manifestations of poor nutrition and ranges from extreme hunger and
undernutrition to obesity. Despite social and economic development, the
burden of malnutrition across the globe remains unacceptably high.

Children under the age of 5 years are highly vulnerable to malnutrition with
estimates suggesting that in 2019, globally 144 million children under the
age of five were stunted (short for his/her age), 47 million wasted (thin for
his/her height) and 38 million overweight (abnormal or excess bodyweight).
Millions of women around the world are still underweight and one-third of
women of reproductive age are estimated to have anemia.

Malnutrition has long been linked to poverty as higher rates of malnutrition
are found in areas with chronic poverty. The impact of poverty on individuals
can be seen through multiple manifestations and includes poor nutritional
status, food insecurity, vulnerability to disease, reduced productivity levels,
and compromised physical and intellectual development. Additionally,
people living in poverty are unable to access necessities including
nutritious food, hygienic environment, appropriate shelter, and adequate
healthcare. Therefore, it would not be incorrect to suggest that even though
malnutrition is a global phenomenon, those living in poverty face a higher
burden. The question that now arises is whether malnutrition is a cause or
consequence of poverty.

To analyze the vital linkages between poverty and malnutrition; it is
important to highlight the growing evidence that health outcomes including
malnutrition are driven by social determinants. This interconnection
between people’s conditions and circumstances and their health can be
displayed using the concept of poverty and food insecurity.

Read the following passage carefully and answer questions that follow:
(5x3=15)

As fertility declines, the share of the young population falls and that of the
older, dependent population rises. If the fertility decline is rapid, the increase
in the population of working ages is substantial yielding the ‘demographic
dividend’. The smaller share of children in the population enables higher
investment per child. Therefore, the future entrants in the labour force
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Q9.

can have better productivity and thus boost income. With the passage of
time, the share of the older population rises and that of the working age
population begins to fall and hence the dividend is available for a period of
time, ‘the window of demographic opportunity’.

However, realization of the benefits of potential demographic dividend is not
automatic and thus presents many challenges. Without proper policies, the
increase in the working-age population may lead to rising unemployment,
fueling economic and social risks. This calls for forward-looking policies
incorporating population dynamics, education and skills, healthcare, gender
sensitivity, and providing rights and choices to the younger generation.

With falling fertility, rising median age (from 24 years in 2011, 29 years now
and expected to be 36 years by 2036), a falling dependency ratio (expected
to decrease from 65% to 54% in the coming decade taking 15-59 years
as the working age population), India is in the middle of a demographic
transition. This provides a window of opportunity towards faster economic
growth. India has already begun to get the dividend. In India, the benefit
to the GDP from demographic transition has been lower than its peers in
Asia and is already tapering. Hence, there is an urgency to take appropriate
policy measures.

Questions :

1. What does ‘demographic dividend’ mean according to the passage?

Il. Why is the dividend available for a period of time?

lll. What would the increase in the working-age population may lead to?
How can this issue be addressed?

IV. What is India’s position regarding ‘demographic dividend’ according
to the passage?

V. Give a suitable title to the passage.
Do as directed: (20 x 1 =20)

Choose the correct answer from the given options and darken the circle
( ® ) as well as write the correct answer in the bracket (CAPITAL LETTER)
as per the sample given below.
Sample Ans.: (C) (A) O (B) O (C) @ (D) O (E) O
1. 1 be at home by 10 o’clock otherwise my father said that he would

not let me in. (Fill in the blank)

(A) shall

(B) should

(C) have to

(D) dare

(E) may

nndd 2yl /
OBTAINED
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We on a picnic every weekend when we were in Bursa.
(Fill in the blank)

(A) were going

(B) went

(C) have gone

(D) have been going

(E) go

They will demolish the entire bridge. (Change the Voice)
(A) The entire bridge is being demolished by them.

(B) The bridge may be demolished entirely by them.

(C) The entire bridge will have to be demolished by them.
(D) The entire bridge will be demolished by them.

(E) The entire bridge had been demolished by them.

She was congratulated by her mother on her brilliant success in the
recent examination. (Change the Voice)

(A) She congratulated her mother on her brilliant success in the
examination.

(B) Her mother congratulated her for her brilliant success in the recent
examination.

(C) Her mother congratulated her on her brilliant success in the
examination.

(D) Her mother congratulated her.
(E) Her mother congratulated her for her success.

The officer said to the reporter, “The minister will leave for Delhi
tomorrow.” (Change the Narration)

(A) The officer told the reporter that the minister will leave for Delhi
tomorrow.

(B) The officer told the reporter that the minister left for Delhi the next
day.

(C) The officer told the reporter that the minister would be leaving for
Delhi tomorrow.

(D) The officer told the reporter that the minister would leave for Delhi
the next day.

(E) The officer told the reporter that the minister would leave Delhi the
next day.
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10.

The teacher asked me why | had been absent the day before.
(Change the Narration)

(A) The teacher asked me, “Why were you absent yesterday?”

(B) The teacher asked me, “Why are you absent yesterday?”

(C) The teacher asked me, “Why are you absent the day before?”
(D) The teacher asked me, “Were you absent the day before?”

(E) The teacher asked me, “Why have been absent the day before?”

Everybody has heard of Dr. Homi Bhabha. (Transform the given
assertive sentence into interrogative.)

(A) Has everybody heard of Dr. Homi Bhabha?
(B) Isn’t that everybody has heard of Dr. Homi Bhabha?
(C) Everybody has heard of Dr. Homi Bhabha, isn’t it?
(D) Dr. Homi Bhabha is known to all, isn’t it?
(E) Do you know Dr. Homi Bhabha?
children recited poem in honour of
Prime Minister. (Fill in the blanks)
(A) The, a, an, a
(B) A, the, the, the
(C) No article, a, an, the
(D) The, a, the, the
(E) The, a, no article, no article
The stockroom is the back of the house. (Fill in the blank)
(A) about
(B) in
(C) of
(D) at
(E) into

If the TV isn’t loud enough, turn it a little. (Fill in the blank)
(A) slow

(B) off

(C) up

(D) down

(E) None of the above
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11.

12.

13.

14.

15.

His supporters began to , and he was left alone. (Fill in the
blank)

(A) fall in
(B) fall into
(C) fall away
(D) fall on
(E) fall over

Whenever | meet her, she pulls a long face.

(Select the correct meaning of the underlined expression)
(A) looks angry

(B) looks cheerful

(C) looks gloomy

(D) looks wicked

(E) looks indifferent

Choose the correct meaning of ‘deferred expenditure’.
(A) Delayed expenditure

(B) lllegal expenditure

(C) Emergency expenditure

(D) Human Resources Training expenditure

(E) Excess expenditure

Choose the correct synonym for ‘altercation’.
(A) Distribution

(B) Change

(C) Heated dispute

(D) Choice

(E) None of the above

Choose the correct antonym for ‘ambiguous’.
(A) Obstruse

(B) Clear

(C) Responsible

(D) Perplexing

(E) None of the above
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16.

17.

18.

19.

20.

Choose the one-word substitution for ‘that which cannot be avoided’.

(A) Contagious
(B) Infectious
(C) Inevitable
(D) Severe

(E) None of the above
He wasn’t feeling so well. , he went to the office.
(Fill in the blank)
(A) Although
(B) Nevertheless
(C) Consequently
(D) Therefore
(E) if
all the technical problems he had with the computer, he
managed to send the e-mail. (Fill in the blank)
(A) Despite
(B) Because of
(C) Since
(D) Although
(E) Also

We were satisfied with the service at the restaurant.
(Fill in the blank)

(A) non

(B) mis

(C) dis

(D) under

(E) None of the above

You could take a different and still arrive at the same
destination. (Fill in the blank)

(A) route
(B) rout
(C) root
(D) rute
(E) routee
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Translate the following passage from Gujarati into English:

@Rd [Asdlla 2 8. qurdl iedaui vidl 8ag e e 2uldls (s 24 #d ©. curdHl
atd) el aredld vt Y3 wsal, 20eifis [Asin g 8 d 12 5120 HIA Y2 wsal dan Adl A
(A5 12 Vi Aan AL asdl o 9. Rus 12 w232 adl S €. (AL 54 %0 A14-iql
(2 251 %0 A4~ R0 12 quRr 8, delod ARioLL 51281 BdAsHL 535121 AdL 28 B, dd arue-dl
AL ) €9, 21 dd)l @RI %M UL PUHIR UL AHAL AL . ¢ 251 B0 UL 2L BR AURIA
2 quRd 8. audui B33l axdlals adt 2030 Hi gl /3 azdlA g Warg well Al “a. adwq
wuuMl [2ed), siast, A~ 2 Hor§ gan Ao Rl well-l Hist adlA el aa oS 298 6.
A5l ARl At wll-l [Aare aazen 210 Ad, ond) asidl -9l ddl waigls well-l aust asdl
0 6.
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Q.1. Discuss the genesis of Maha Gujarat Movement and its impact on social and political MARKS
history. §CL QL /
TOTAL
MARKS: 10
u.2. 2U8 512+ A3d-l [Alas wni-l [l 2l dRd yeuis 52U Aadet opat /
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Q.2. Give details of the various aspects of non-cooperation movement and evaluate them. MARKS
€ 9JQL /
TOTAL
MARKS: 10
w.3. Sl3un Slu3a Al [y Aeed 2udl [A2a-) 4rdl u 2dd sil-asidl wakizi aeldl. || [aoda e
OBTAINED
Q.3. Describe revolutionary activities on foreign soil, with special reference to The Indian MARKS
. 6l 98l /
Home Rule Society. TOTAL
MARKS: 10
u.4. gRud dwirui Hisd) vig? Headl s qda © — l s, Andet dyaL/
OBTAINED
Q.4. Mandyvi port has played the important role in the marine trade — Discuss. MARKS
56 9QL /
TOTAL
MARKS: 10
W.5. ol 2uleonld 2gla-l [Agu uanzil ur iy quil, Andct QL /
OBTAINED
Q.5. Write a note on the special practices of Tribal culture of Gujarat. MARKS
56 99l /
TOTAL
MARKS: 10
U.6. ?g%f%ld'{l (e [vaid SR setl U iy @i, AOAct 8L /
OBTAINED
Q.6. Write a note on world famous handicrafts of Gujarat. MARKS
6l 98l /
TOTAL
MARKS: 10
W.7. MR-l Gk ydlu il wlils, della 2 ey [QRddad di0u d Gersel wd || [anaa o/
~ OBTAINED
Q.7. Explain the religious, racial and linguistic diversity of north eastern states of India §$o::ﬂ/
with examples. MARKS: 10
. - . ~ N ~ ~ c, A Aadd -l /
u.8. GriRwvig-u Al HeHT Il uwidl ol -l Be-uil s 6. d-u srei-l a2l 2. OBTAINED
MARKS
Q.8. Discuss the reasons for the land subsidence phenomenon at Joshimath in 6L 9JQL /
TOTAL
Uttarakhand. MARKS. 10
u.9. 990 AAHE WIERIAL 24891l M-l s AU U212 dlAa waraizi-l 2l s2. Aadet oL /
OBTAINED
Q.9. Discuss the steps taken by the State Government to face the water scarcity in MARKS
56 9JQL /

Gujarat.

TOTAL
MARKS: 10




BEN-3

n.10.

Q.10.

Q.11.

n.12.

Q.12.

n.13.
Q.13.

n.14.
Q.14.

N.15.

Q.15.

Adl-l$20U Bl (Renewable energy) &5Mi -l WA (Concepts) $UL 8 ? oAl
ulRad- (Climate Change)-ll 2AA30A g0l scuui d 59 dd uee sA A3 ?

What are the new concepts in renewable energy sectors? How can they help to
mitigate the effects of climate change?

HURd i A2WAAGIR 25UA HuU AL 5L 8 2 d 2Rl @an 5d) dld xuR
5297

What are the key benefits of Information and Communication Technology (ICT)
and how they impact our life?

audl xasie silsHn SAldsis A @l su 8 ? 2aqdl x1as2 axami dud g
ALELRL B ?

What are the historical milestones of Indian space program? What is their
contribution to the nation’s space capabilities?

GI 21 534 Mi3523 : SidRAEIY Hiadl {2+l Al gl — A8 dvil.

GI Tagged Products : New strategy for international recognition — Write a note.

-

S5i [R2u- A8 He wulRes UENAAL 2id dladl nagas 8. — Al $2U.

End plastic pollution is must for conservation of Eco-system. — Discuss.

iU Falalaudl [Ba : s2ell sriadl 3l : Flas [Alavdid y:[uin, — yeuisq
52U,

International Day for Biological Diversity : From agreement to action : Reconstruction
of biodiversity. — Evaluate.

AOAe QL /
OBTAINED
MARKS

§C 2Rl /
TOTAL
MARKS: 10

AOAA 2L /
OBTAINED
MARKS

§C 2B /
TOTAL
MARKS: 10

Andd 2yl /
OBTAINED
MARKS

6 9LQL /
TOTAL
MARKS: 10

AOAe QL /
OBTAINED
MARKS

§CL QL /
TOTAL
MARKS: 10

Ande 94al /
OBTAINED
MARKS

§& QL /
TOTAL
MARKS: 10

AnAd 2yl /
OBTAINED
MARKS

§CL QL /
TOTAL
MARKS: 10




BEN-4 ©)
u.1. RURAHL YOG LRSI 24 W2 sun sitRelly Guial € 2 — 3l 531, ilénBaTc;;JE'aé /
MARKS
Q.1. What are the Constitutional remedies for enforcement of Fundamental Rights in
India? Discuss.
§C oLaL /
TOTAL
MARKS: 10
w.2. Aulzu A2l e wAHi BriRelRc 24 gaioigrl did 8. — s Heuis 2. Aadet oyt /
OBTAINED
Q.2. Parliamentary committees bring the accountability and responsibility in public MARKS
expenditure. — Evaluate the statement.
§CL QL /
TOTAL
MARKS: 10
w.3. cuRdlu il gyl XI (11)41 Gealbid Yoy suotdi-dl 2l $2u. Andet dyal /
OBTAINED
Q.3. Discuss the key areas mentioned in the Schedule XI of the Indian Constitution. MARKS
§CL OLQL /
TOTAL
MARKS: 10
W.4. RURAL GIHIRRIHL AY A A%AL A s1aetfl Al [Qeusdl ue odaias sl || [Anda oo/
2udd 8. Gerswl a2 53 CVARKS
Q.4. In the Constitution of India, the clear provisions are made for distribution of
legislative powers between the Union and the States. — Discuss with examples. §e R/
TOTAL
MARKS: 10
W.5. el s 217 Alds 510l yarar w2 s Aidle %33 8. — al 530, Andet opel /
OBTAINED
Q.5. Social audit is necessary for improving organization’s social and ethical performance. MARKS
— Discuss.
§eL 2LaL /
TOTAL
MARKS: 10
6. AReud i 3 adladl 21 seurisidl Rl wordl 8. — vl 53, Anda A3 /
MARKS
Q.6. Kautilya’s Arthashastra is a treasure house of administrative and welfare ideas. —
Discuss.
§CL OLQL /
TOTAL
MARKS: 10
7. Wirg 2B e W2 [Alay qenal 2 stueidl 9. — Bers Aldd Auonal. Andet ol /
OBTAINED
Q.7. Different organisations and Acts are there to protect human rights. — Discuss with MARKS
examples.
§CL LRl /

TOTAL
MARKS: 10




BEN-4

n.8.

Q.8.

n.9.

Q.9.

c

AARATNU N8R 2URNU W2 (A2 2U1R0Y A2 VoA HS YRl AL €. — YUl $2U.

The World Health Organization is very important agency for international public
health. — Discuss.

vaiazl [@3g (st - 3u 228 (Case study).

2NellBis R Bauen, SIS s s g1 HI2L WA 5T 20d 8 L Al ol visH
22Ul WIS YA $3A 89, YA YR d-ll ASIR0cHS A S100 QAL AU AL Ul
soudl gldl gel. uig 25 A3 21 el 5 dlda 24 visuA HoyEl 204 gdl.
adlsiit [@R1A ouggHi AvlA a8 WA visu- @Al 2u, 20 2sH en ANl udal
RUUUNE 2UAE S 2R d YA Stldd e,

=

U5 s 5128 ngrRLdl 21U 1A (ARl i, well 214 wsd adl dl. wgm
i ueellaAl e uRicaHl el anzul utl Gell adl edl. 2u-udl 2isuA oiy sl
oL A AielArl QUL Sl A ABA/UL 8ARA ALsIL Aigiaul audl A gdl. zell
sl piA -l aua Gell Adi 535 widlu sdadl sl uid sdl.

2L U5 $120 ATl AU UVSIR 2L U5H 614 5L UL S Sll. 2L VUSH viY
aaidl 24 AsHL % ) ug 2UuUIBLE HSHIHD SIH 52l Sell d SIHERIL UL 61512 AdQ
Sl. Y5 g1RL GeullBd 181l U 2R BelolA Bl vio1os v AR A &dl.

a2 A1 A3 240 YLl U g a4l AAAEIR AR AUUHL A 6. dH 24 U2
56 dd sa 22 ?

Environment v/s Development - (Case study)

Industrial chemicals are produced on a big scale by a company. It suggested
establishing a second unit. Due to its negative impact on the environment, many
states rejected this proposal. But one State Government accepted the request and
permitted the unit, close to a city, brushing aside all opposition. Further, the unit was
set up 10 years ago and was in full swing till recently.

The pollution caused by the industrial effluents was affecting the land, water, and
crops in the area. It was also causing serious health issues to human beings and
animals. This gave rise to agitations demanding the closure of the plant. In a recent
agitation, thousands of people had taken part, creating a law and order problem
necessitating stern police action.

Following the public outcry, the concerned State Government had ordered the
closure of the factory. The closure of the factory resulted in the unemployment of
not only those workers who were engaged in the factory but also those who were
working in the ancillary units. It also affected very badly, those industries which
depended on the chemicals manufactured by it.

As a senior officer, you are entrusted with the responsibility of handling this issue.
How will you resolve this issue?

AOAe QL /
OBTAINED
MARKS

§C LRl /
TOTAL
MARKS: 10

Anade 2Ll /
OBTAINED
MARKS

§E OLQL /
TOTAL

MARKS: 10




BEN-4 (3
u.10. Alds [l (Ethical code) 518 WL A vo1 Heearll 1A 8. [Adend [Adaicns || [Rnde o/
Yeuisn 3. O RS
Q.10. Ethical code is very important document in the organisation. Critically evaluate the
statement. §C L8l /
TOTAL
MARKS: 10
u.11 082 Aasll ueoll uBuni SHiand S-2[Qou 222 vior % Hsaril ML Myd 8. g 2 || [20de o
ouoid ¢330 8 ? — [Qdariicns Ad yeuis 2. R
Q.11. The test of Emotional Intelligence is playing very important role in civil servant
selection process. Is this necessary? — Evaluate critically. §CL AR/
TOTAL
MARKS: 10
u.12. “ortn @A [Ra” et [ 28 dL dlsi-l Hneid r3duid yel 529, — a3l 52, ﬂglaa a8/
BTAINED
MARKS
Q.12. “Jal Jeevan Mission” will fulfil basic needs of people living in rural areas. — Discuss.
§CL 2LaL /
TOTAL
MARKS: 10
n.13. JL%RUA N G-le'j, ALY @ 89, — AL $3U. nadd QL /
OBTAINED
Q.13. Gujarat is India’s Growth Engine. — Discuss. MARKS
§CL oLaL /
TOTAL
MARKS: 10
u.14. 2[5 (st W2 vy [A191 (Deficit Financing) %331 €. — [Qda-icus 2l 530, Andct QL /
OBTAINED
Q.14. For economic development deficit financing is necessary. — Discuss critically. MARKS
§CL oL /
TOTAL
MARKS: 10
W.15. ‘UL 2”2 “Rad Al 27 2wl gls uR 2wdv Avad wead a8, [ [aade e
— yeuis 53U OARKS.
Q.15. “Repo Rate” and “Reverse Repo Rate” are important tools for monitoring economic
growth. — Evaluate. §EL AR/
TOTAL

MARKS: 10







BEN-5 @
w.1. ulast Guar-dl ulReums 2uul. 56 AHL HAARA 2ual Guani-l 28 530 8 ? sua Guadl || [aaac o /
arpuell (Ria) xE[AAM 1972 2idold 519 A Sou @ wHA €9 5 34 ? yldat O NREY
Guarivit HRdca suL BHL 7
Q.1. Define sacred grove. Which common belief has protected such groves ? Whether s 9l /
such groves get protection under any of the provision of Wild Life (Protection) TOTAL
Act, 1972 ? What are the threats to the existence of the sacred groves ? MARKS: 10
w.2. 2 204 adgaldsi--l aoeinl A si-l wReww 2uul. QAnde ol /
. N OBTAINED
(Aot 24 w3 MARKS
(Af3or 244 sl
~ N A ge v/
542 51U Vi ™A 54 TOTAL
MARKS: 10
w252 A ALY
adl 21 uyeln
Q.2. Define the pairs of silvicultural terms given below.
Pruning and Pollarding
Weeding and Cleaning
Cover crop and Nurse crop
Aspect and Exposure
Population and Community.
w.3. AU w4 A8 gL allld $1322 26Su-dl uRe 2uul. R uldRR« s2q1 1322 || [Rade o/
N N saia) OBTAINED
25U ALSLS EIAALAL 2L, MARKS
FULAUY, AGLG ARHIARAL AYELL
. G oL@l /
gl 2AoLg ARUIARA UYEIU TOTAL
. MARKS: 10
Y ARULARAUL AYEIY
YRHIARAITR AHEIL
Flas AH1AA AYEW
Q.3. Define Forest Type described by Champian and Seth. Give few examples of forest

types representing the following:
Climatic Climax Community
Edaphic Climax Community
Pre-climax Community

Post-climax Community

Biotic Climax Community.
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u.4.

Q.4.

u.5.

Q.5.

M.6.

Q.6.

U.7.

Q.7.

n.8.

Q.8.

n.9.

Q.9.

W gat-ll uRe 2l SRR Gaoud Y3 52l s WA gAHE HSATIL s qaRll
Slal 321 €9 ? v gaqi sl e sk vl SH Aoy e 6 ? ysleunu sailia
HIZ AURAL 2R HOWE 2 1HA lEA-L QBlA s3i.

Define Plus Tree. Which important traits a plus tree should have to serve the

agroforestry pupose ? Why are coppice shoots considered suitable for cloning the
plus tree ? Describe the infrastructure used and the process involved in cloning

Eucalyptus.

gl uReust 2uul. a0 [yl xAHa 12 Al doibn-u Yo
[Rugidl g & 7 Yuiiral 247 Mepuni add wnafdar Uoia- Heayel siHiAL avlq
52U 2l stHiell 2uuRid g sllauws 1L €9 d-ll agl »uul.

Define Watershed. What are the basic principles of watershed management for
application in a hilly area? Describe important works of watershed management

done at Sukhomajri and Jhabua. Enlist the lessons we get from such works.

RLASL0LL FUUYrL AU AL HIS HSeArL 69 7 2L AU WS YRurnay, [Asu-lail gl
Guulai daidl ds-lsi-i aglq s2.

Why is it important to study the past climate? Describe the techniques used by
paleoclimatologists to study it.

AR al¥or wuq g glu © 7 2iq Gagur agin s20. alEa v duir sa 33 B
&l UH 2L d 351 sl uglad aei s2u.

What is Preliminary Working Plan Report ? Describe its purpose. Name the field
surveys required for preparing the working plan. Describe the methodology of doing

each of them.

(Al xR ldxi Halled didilas [Qaa [QaR 4ad 9. 20 W2 ganeR wRei
H el PUHIR B2l sHHL 35 25 5307 QR 520 Bridl o uR U=9yS< uallatl 31 el wadi
R elaell 4o uR d Gulad € ? sRull 2uul.

All species have limited geographical distribution range. Describe the factors
responsible for it in decreasing order of importance one by one. Why penguin birds
are not found at north pole while they are present at south pole ? Give reasons.

opow $iesl g 6 ? df WRRAlAS e g 69 ? d-l Gru(Adil suL AL ? d-l 28w
CIESTRIETCTERR TR TERIR

What is Gangetic Dolphin ? What is its ecological significance ? What are the threats
to its survival ? Describe steps to conserve it.

AnAe 2Rl /
OBTAINED
MARKS

§C QL /
TOTAL
MARKS: 10

nnde dLal /
OBTAINED
MARKS

§& LRl /
TOTAL
MARKS: 10

Andd 2L /
OBTAINED
MARKS

§E 2LQL /
TOTAL
MARKS: 10

Andd el /
OBTAINED
MARKS

L oLRL /
TOTAL
MARKS: 10

AnAe 248l /
OBTAINED
MARKS

§C QL /
TOTAL
MARKS: 10

Nndd el /
OBTAINED
MARKS

L oLRL /
TOTAL
MARKS: 10




BEN-5 @
%.10. A 969 ? el sul Gualdll 8 7 3 su ealimi wglds 3U HAL 6 ? d-il uRH MIRd UL || [Ande o)
N~ - N . A PN . OBTAINED
22 209 8 ? A AR5 Gewe sULUSR SAURE 20 8 ? 9y AN df RS Gewen MARKS
24 AURALL 5l [A2elR1AL UM 21l
§GL olaL /
Q.10. What is Lac ? What are its uses ? In which countries does it occur naturally ? Where M;F?IIQ_LW
does India stands in its trade ? How is it commercially produced? Name areas doing '
its commercial production and the utilization in Gujarat State.
u.11 a=t el (Riae) 2ERuH, 1972 Hi 23d Adlidn A8-AL QA s, Andet dya /
OBTAINED
MARKS
Q.11. Describe the latest amendments made in Wild Life (Protection) Act, 1972.
56 910l /
TOTAL
MARKS: 10
.12 AR, 202241 YAHIML AoAdd COP-19 (CITES)HI 22 4Ad Gidrl Ricirit [anai-l || [acda o s
N OBTAINED
2l 43U, MARKS
Q.12. Discuss India’s Points of Concern presented at COP-19 (CITES) held at Panama in
56 0lQL /
November, 2022. TOTAL
MARKS: 10
W.13. well- stgua @lds 2 s geesiu a5 3 ¢ wlia 2wl glla || e -y
wRRalAsdAU] audl 2dirl Grildmi 2»Ald Al ¢Hs qd 6. OBTAINED
Q.13. Describe unique physical and chemical properties of water which play significant
role in the survival of living beings inhabiting terrestrial and aquatic ecosystems. §$o$§|l_/
MARKS: 10
u.14. ARl Adwel eARUA x4 R Ul U Adieel Sa ydui RS [ o Qi || [Roac o
. OBTAINED
AAALR $ell Sell d-l Al 530, 2al uRewi-l wel il 5 Bel 9¢d ARAAHE d @[dAd MARKS
AL VAL HHAURRAAL UH UL FHE 2 Slaui 4 .
§CL 9LaL /
Q.14. Describe the areas where Asiatic lion was inhabiting during Seventeenth Century TOTAL
and thereafter in first millennium BC. Enlist the factors that made it to survive lastly MARKS 10
in Gujarat. Name the sanctuaries in which it inhabits at present.
w15, || wRRAMSs da 3 2 AR Gl u 2ulBd el vl [Qaudl Fa [Aldad 214 Genesani || [Ande o/
. - e n n e oA OBTAINED
la-llawa s 2udl &L 89, d aviq s2d. MARKS
Q.15. Describe the ecosystem which does not depend upon solar energy yet is contributing o
significantly to the biodiversity and the productivity of the world. §TOT}AL

MARKS: 10
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